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1
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Section Marks : 40

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 501314213
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 50131410694 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

.
5
G305} adeed

The value of é X

1 3
_K_
2 3

Options :

Question Number : 2 Question Id : 50131410695 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The associative property 1s applicable to
b L =
1Bo® TS Qa9 &80 B SO od

Options :

Addition and subtraction

w 5 W
1% 5358 SH0 Ak 3t

Addition and multiplication
5 o 5768 O Measdo

Multiplication and division

- jr
3 % M5S0 DB 2rfatdo



Subtraction and division

4 % 235383050 DB )2

Question Number : 3 Question Id : 50131410696 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1'3 the value of —+ i S
% +242 gy Dend
Options :

1 % 10/84

, x 134584

3 ¢ 157/84

167/84
4,

Question Number : 4 Question Id : 50131410697 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Area of the square with side-length “a’1s
50 S00 TBE) 2D P a @SS R B3nE) JTeE0

Options :

1. ® 3a

4a

ta | &

ra



Question Number : 5 Question Id : 50131410698 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Surface area of cube of edge “a’ 1s
2022230 a EOAD D30 B0 e00ehe) IFEE0
Options:

4a”

Question Number : 6 Question Id : 50131410699 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Volume of a cuboid of length (1), width (w) and height (h) 1s:
2H 2250 a EOR orddw CdnE) &08de JFTer50

Options:
2(1+2)h
1.
> % 2 (Ib - bh - hi)

(Ib - bh - hl)/2

Ibh

Question Number : 7 Question Id : 50131410700 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The height (in cm) of a cylinder whose radius is 7 cm and the total surface area is 968 cm? is
A0 Q&) 00 7 cm OGN G&NBSO FTO0 965em? @AY N0
Bg) I (Ro.DoS)

Options :

| % 16

2&:31?

15

18

Question Number : 8 Question Id : 50131410701 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The multiplicative inverse is 8-

8-2 G30%) H5E S0

Options :

1.v &
543

2. %

3, % =9
1

4, % g

Question Number : 9 Question Id : 50131410702 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

3x09x27=
Options :

33
1. %



2. ¥

3}'
3. %

33
4, %

Question Number : 10 Question Id : 50131410703 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Value of (23)* =

(23)* O35y DeXed

Options :

Question Number : 11 Question Id : 50131410704 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The value of 4°x 5% =
42 x 52 Q&Y DeNd

Options:

1.« 400

> % 600

3. % 800



4 % 1000

Question Number : 12 Question Id : 50131410705 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The factorization of 12x+36 15
12x+36 O35 57005 en

Options :

1@ 12,x+3

12, 3x
2. %
3 % 12 3x+1
4 % X 12+ 36x

Question Number : 13 Question Id : 50131410706 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If two diagonals are given, then we can construct a
= o 1 i PRV
Boch 3050 & (8o TS BAR B0

Options :

Triangle
L3250 22600

Rectangle
A 9885w

Parallelogram
e 0edd et 230

Rhombus
Qe hehonyso



Question Number : 14 Question Id : 50131410707 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

To construct a rectangle, we need to know:
AY PSRN0 ABBETVE FTIOVD
Options :

All the interior angles
) @050 Segren

1.
All the Sides
) ZhaFen
2.
Only Length and breadth
- B0 8PBY) «DOO Fésen

Only one angle measure
4 % 3900 2,8 F00 Jend

Question Number : 15 Question Id : 50131410708 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The solution of 2x —4 =8 1s

2x-4=8 O30E) POD

Options :
5
1. %
6
2. ¥
4
3. %
8



Question Number : 16 Question Id : 50131410709 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The perimeter of the rectangle 15 20cm. If the length of the rectangle 15 6cm, then its breadth (i cms)
will be:

&Y WY Thog) tHEPTOE 20 cm TR G0, Fcks) bem 0D TR G Deen)
(0.6

Options :
1.+ 4cm

10

14
4. %

Question Number : 17 Question Id : 50131410710 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If a number 1s divided by 5 it gives 4 as the value. Find the number.

—=

2.8 D0PED 5T 2rA0DSS 7 Dend 4 oIS e Howe.
Options :
30

50

Question Number : 18 Question Id : 50131410711 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The perimeter of a rectangle 1s 40 cm. If 1ts width 1s 10 cm, then find the length (in cms)
A8 8100 T THEPTE 40 em TR Ty, Jchen)) 10cm

2005 R By T (R0.0eeY)

Options :

10
1.¢

30

40
4, ®

Question Number : 19 Question Id : 50131410712 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The product of three consecutive integers 1s 120 what are they
S507°¢) HEDD O Do O 120 @o0SS’ &8 Hogen

Options :

6,7.8

Question Number : 20 Question Id : 50131410713 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which pomnt lies only on y-axis?
1B0B TS D Dot y- @f S0 Gocd?



Options :
. u O

2 ® (4.0)

(0,-5)
3.

(2,-2)

Question Number : 21 Question Id : 50131410714 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which point lies in IV quadrant?
b 4 . 4
1BoB &S &) Do V- FS0S &0en0H?

Options:

1. % L)

(3.-4)
2.9

3. % (-:2,3)

(0. 1)

Question Number : 22 Question Id : 50131410715 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

which of the following 1s not a polynomial
b ATl * R —
BOA QS 227008 5°AH

Options :



1
3 % %* Xt

Question Number : 23 Question Id : 50131410716 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of roots of x* — 2x — 3 =0
x? — 2x — 3 DDEG S0 B Srerer Hows
Options :

1. % :

(]

Question Number : 24 Question Id : 50131410717 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If one of the factor of x> + x — 20 is x + 5 Find the other
x2 +x — 20 O30E) 2% 58080 x +5 @O BokSsA

Options :
1 % Xx+4
2 % x+2

Xx-4
3.¢



Question Number : 25 Question Id : 50131410718 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

The roots of the polynomial x> — 2
1% —2 =0 G308 Sreren

Lo

=0

Options :

1.% 22

Question Number : 26 Question Id : 50131410719 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
A dice 15 thrown once. Probability of getting a number 3 or 4 1s

20 QIS 3 BT 4 TITIE Hoardged

E_.-ﬁ ﬁa%f{ﬂ l?,-.-'df‘\_.-'

Options :
1/6

12
()

]

Question Number : 27 Question Id : 50131410720 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

If the probability of winning a game 1s 0.4, then probability of losing 1t 1s
2.8 e3¢5 TencheEd Hoerdies 0.4 @oNSH L% NDoerdse Jod
Options :

0.5
1. %

0.6
2.

0.7

0.8

Question Number : 28 Question Id : 50131410721 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Intersecting lines cut each other at
DO TDEW D) Doty SHS podhothivoeron

Options :
One point
X3 <
1@ 5 2JOa))
Two points
Soch dochaen
2. ®
Three points
S0T°C 2)ocen
3. %
Null
HOSBOTHE )
4. %

Question Number : 29 Question Id : 50131410722 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

The angle subtended by the diameter of a semi-circle at the center 15
2.8 @8 S0 MWE) D0 DoLFSeed TO(H SO TASW easdn.
Options :
45
1. ®

2. ® 90

180
3.

270

Question Number : 30 Question Id : 50131410723 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A triangle 1n which two sides are equal 1s called
2.5 1832923065 Bodh 2heren HATrS0 DS (Beheso.

Options :

Scalene triangle
Dodod) 23TV (€320 230

1. %
Equilateral triangle
. e 2T°TV |e32D20
2.
Isosceles triangle
e £23°T0 (32020
3.¢¥
None
DO 570
4. %

Question Number : 31 Question Id : 50131410724 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

If AABC 1s an equilateral triangle, then each angle equals to
AABC 02T (8329230 30985 e (58 Feao Gng) Densd

Options :
1. % 45

60

90
3. %

120
4. %

Question Number : 32 Question Id : 50131410725 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The solution of the system of equations 2x-y=1landx+y =5 1s

DaDEBED D25 2x - y=1 0000 x+y=5 AB0E) 55?2

Options :
x=2y=3
1.4 3
= ="-‘:|
5 % x=3,y=2
x=1v=4
3. %
4% x=4 y=1

Question Number : 33 Question Id : 50131410726 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

30th term of the anthmetic progression 10, 7, 4, ... 1s
10,7, 4, ..., @083 HFRAS” 30 & HS0



Options :

1. % 97

Question Number : 34 Question Id : 50131410727 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If r 1s the radius of the sphere, then the surface area of the sphere 1s given by
2.8 Ao G30E) TrQ0 r oA 7R TB0E) rddde FT50
Options :
4yt

1.4

2mre

Question Number : 35 Question Id : 50131410728 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The distance between the points P(0, 2) and Q(6, 0) 15
D0 200HeN P(0, 2) S08C Q(6, 0) © 0 &rdo

Options:

410
1. %



2410

V10

420

Question Number : 36 Question Id : 50131410729 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If p(x) = x* — 5x + 6 then find the value of p(3)=
— 5x 4 6 @0NAICD p(3) NS

'

p(x) =x

Options :

Question Number : 37 Question Id : 50131410730 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

. — ; 1
The diseriminant of the equation 3x* — 2x +5=01s
g 1 —5 W — .
3x2 — 2x + == 0 ©®F DEB0 ABE) DS Sed
Options :
0
1.¢
2
2. %



Question Number : 38 Question Id : 50131410731 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The distance between the pomnts A (4, 3), B(8.6)
A(4, 3) SO0 B (8,6) @3 Soch Dothge ndds rdo

Options :

40

Question Number : 39 Question Id : 50131410732 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A cuboid has ... pairs of identical faces
Ao ... 2,3 265 ANYTeN s0LToD

Options :

2



Question Number : 40 Question Id : 50131410733 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the formula for arithmetic mean

L RE - - LW 0
0% NG 5N0 e O3 aeho

Options :

number of abservations

sum of observations
TP0Es AMOEHE

1 % orahes Sndo

i ol waed M [ i
roduct of observations

sum of observations
ordey &30

-

) % TPEED Al

e
=

sum of observations

number of observations

]

. s .
Ay SJWNED

i

e e e
Ul b "\.:-'C-q.-\-_

3. %
Fum of observations
product of observations
Trh JdnSo
4. & orey 83300
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501314181
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Online
Mandatory
15

15

15

0

1
501314214
Yes



Question Number : 41 Question Id
Correct Marks : 1 Wrong Marks : 0

Choose the correct sentence:
Options :
She don’t like coffee.

She doesn’t likes coffee.
2. ®

She doesn’t like coffee.
3.9

4 % She didn’t liked coffee

Question Number : 42 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131410734 Question Type : MCQ Option Shuffling : Yes

: 50131410735 Question Type : MCQ Option Shuffling : Yes

Identify the synonym of the word "abundant":

Options :
1% Rare
5 % Scarce

3.« Plentiful

4. % Few

Question Number : 43 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131410736 Question Type : MCQ Option Shuffling : Yes

Fill in the blank: He to the store every Sunday.

Options :

go

goes



Question Number : 44 Question Id : 50131410737 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct verb form: They playing soccer when 1t started
raming.
Options:

was
1. %

2 Wwere

15

4 % are

Question Number : 45 Question Id : 50131410738 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the word that best fits the sentence: The movie was so

that I couldn't stop laughing.

Options :

1 % boring

. funny

scary

sad



Question Number : 46 Question Id : 50131410739 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 15 a compound sentence?

Options :

1 % She enjoys reading and writing.

5 & I went to the store, and I bought some mulk.

Because 1t was raining, we stayed inside.

The cat slept on the couch.

Question Number : 47 Question Id : 50131410740 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct use of "thewr." "there." or "they’re":

Options :
There goimng to the park.
1. %

Their house 1s big.
2.9

3 % They're 15 a cat under the table.

The book i1s over their
4, %

Question Number : 48 Question Id : 50131410741 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the sentence that 1s 1n passive voice:

Options :



The chef cooked a delicious meal

1. %
5 A delicious meal was cooked by the chef.
The chef 15 cooking a delicious meal.
3. %
The delicious meal cooked by the chef.
4. %

Question Number : 49 Question Id : 50131410742 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the correct adjective form: This is the movie I have seen.

Options :
bad

2 % Worse

worst

badly

Question Number : 50 Question Id : 50131410743 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the antonym of the word "expand":

Options :
1 w Extend

Contract

3 % Increase



Enlarge
4. %

Question Number : 51 Question Id : 50131410744 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Fill in the blank: She 1s the of the two sisters.

Options :
tall

taller

tallest

most tall

Question Number : 52 Question Id : 50131410745 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the correct sentence:
Options :

He have been working here for ten years.
1. %

5 % He has been working here since ten years.

He has been working here for ten years.
3.¢¥

He has bemg workmg here for ten years.
4, =

Question Number : 53 Question Id : 50131410746 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Identify the correct indirect speech: She said, "I am going to the market."

Options:

1 % She said that she i1s going to the market.

> She said that she was going to the market.

3 % She said that I am going to the market.

4 % She said that I was going to the market.

Question Number : 54 Question Id : 50131410747 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the word that best completes the sentence: The teacher asked
the students to their homework on fime.

Options :

1 Comp lete

completed
2. %

completing
3. %

completes
4. %

Question Number : 55 Question Id : 50131410748 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the correct form of the verb: By this time next year, she
her degree.

Options :

1 % will complete

2. ¥



will have completed

completes
3. %

completed
4, %

PART C

Section Id : 501314182
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 501314215
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 50131410749 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who 1s the current President of India as of 20247
2024 50565350 08 (Dened 27ded Tralen Hed Jadtn?

Options :

Ram Nath Kovind
1. 8 T TG FI06

Pranab Mukherjee

5 % 19092) 202

Draupadi Murmu

08 30083
3. ¢



Narendra Modi

4 % Niolollalniie)

Question Number : 57 Question Id : 50131410750 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which state was the first to implement the National Education Policy 20207
2300 DITEATO0 2020R 00 T ¢S T°lR0?

Options :
Karnataka
$ory 68

1.+ =
Maharashtra

\"".
2 ® 0a3° 07 %3

Tamil Nadu
€03 )
3. %
Gujarat
heT e
4, ®

Question Number : 58 Question Id : 50131410751 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who was appomted India's first Chief of Defence Staff (CDS)?
278 TF (DS 0D 8D $DS) D (Chief of Defence Staff )T 2)s5&0
QOO s0?

Options :
General Bipin Rawat

28O DD Toded
1.4

Adnural Karambir Singh

- 0358 58 DB ok



Air Chief Marshal R K S. Bhadauria
Dod DY 58S RKS. 30O

General M M. Naravane

4% 28506 D0.00. SBTEH

Question Number : 59 Question Id : 50131410752 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian city hosted the G20 Summait in 20237
e85 THOS DAKE0 G20 HAEN) 2023 DBN0HEI0 28A0E 2

Options :
Mumbai
s 023
1. %
New De%hi
Nuliald
2. -7
Bangalore
Eafelal>hiloV
3. %
Hyderabad
SrOTS
4. % =

Question Number : 60 Question Id : 50131410753 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who 1s the current Governor of the Reserve Bank of India (RBI) as of 20247
2024 €38 | DA ed 82305 2508 RBI) N0} 0 Ded?

Options :

Raghuram Rajan
1 % ODNTD Sozd

Urjat Patel
&0d HTS



Shalktikanta Das

3 v 38 sroed

D. Subbarao
&. D) T0
4, #

Question Number : 61 Question Id : 50131410754 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What was the theme of the 2022 International Yoga Day?
2022 90T B0 TZFTT OS5 B De3?

Options :
Yoga for Wellness
1 % Q3T 00 IO [
Yoga for Humanity
5 @ OL°T SearRes
Yoga for Health
g W ? =
3 3T DB TS &
Yoga for Peace
4% O DB DD

Question Number : 62 Question Id : 50131410755 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who won the Nobel Prize mn Economics i 2019 for their work on global poverty,
making them the second Indian-born individual to recerve this honour?

e i ; of :
DD0 DABEC 2 S HOTHIK e 201 965" &30% F(N0S SBS 2570
e0)%000) 2rde0% D08 ToAS S58 Dth?

Options:
Amartya Sen

@0T: D
1. %



Abhijit Banerjee

a\'.'_}E':FL: o=
5 ¢ B 3 23000

Raghuram Rajan
SDNTD T* B

Manmohan Singh
4% DS IS Boh

Question Number : 63 Question Id : 50131410756 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian s:rickele_r retired from all forms of cricket 1n 20227
2022 50583508 @R 850 (836 0 800 IO a8 (8363 5 257

Options :
Virat Kohli

DTEET o
1. 8

MS Dhoni
, % D0.dR. EJ

Suresh Raina
037 B

il

Yuvraj Singh

=

4. % QST woh

Question Number : 64 Question Id : 50131410757 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the name of India’s first Indigenous atrcraft carrier commussioned m 20227
2022 ' SPE0E0DS 238 Ty Dnde3 D87 ST To7E T8 2

Options:
INS Vikrant

| v INS D|F0S



NS Viraat

, % INSDTOD

INS Arihant
3 % INS®0Toe

INS Shakt
4. % INS %:“f;

Question Number : 65 Question Id : 50131410758 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian company became the first to hit a market capitalization of $200 billion m 2022?
2022 & 200 DO FTOE © B8 FrHOBBAS & TDZS Tnt3e3 rE0%H
502 8.

Options:

Reliance [udustriesé
DR RO WD

1.v
Tata Consultancy Services (TCS)
- e e 5B AAA AR (TCS)
Infosys
2 SN2
3 % ol ﬁ:l
HDFC Bank
0 T o 0 TR i 01
4, ® '

Question Number : 66 Question Id : 50131410759 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the name of the mission launched by ISRO to study the Sun?
0 25 @95:0000 DONEVE ISRO [arH02)00S aDAD IA.

Options :
1. %



Chandrayaan
nlollmTeVi

i
e

Gaganyaan

e AS°d

Aditya-L1

e3Dehs-L1
3. v .

Mangalyaan

4 % DONY O

Question Number : 67 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131410760 Question Type : MCQ Option Shuffling : Yes

Which Indian state la}mched the '"Lakshmir Bhandar' scheme for women m 20217 _
2021909651008 DrFOFN0 ' ©8 200 ' HOTR) e T30S 1rE0DoNN

O°| )0

Options :

West Bengal
1 ¢ 2330 Bord

Odisha
PuCaTe

Bihar

3. %

Jharkhand

2805
4, %  °

Question Number : 68 Question Id
Correct Marks : 1 Wrong Marks : 0

o

: 50131410761 Question Type : MCQ Option Shuffling : Yes



In which year did India achieve the target of 100 GW of installed renewable energy capacity?
arded T390 100 GW P Deh D038 e 1698 38 T 200D & 0058 8065
OOV 0A.

Options :

2018
1. %

2019

3 ¢ 2021

2022

Question Number : 69 Question Id : 50131410762 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 15 the name of the new digital payment system launched by the Reserve Bank of India for

small-value digital payments i offlme mode?

D), enden fe TOoye §0 erdecd 628 208 [FrE0DonN A

BD0JO D50 O 2

Options :
UPI Lite
UPI 86
1.4
e-RUPI
&i- RUPI
2. %
Bharat QR
2786 QR
3.
NACH
4.

Question Number : 70 Question Id : 50131410763 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Who won the Rajiv Gandhi Khel Ratna Award (now named Major Dhyan Chand

b =) o W = W 4 .
2021 S TES mod BO b S (T3S W0d ™ D SrEI10608) Ten B o

Khel Ratna Award) in 20217
Joa0?
Options :
Neera) Chopra
DBS ST
1.9 )
PV Sindhu
2).a). DO
2. %
Rohit Sharma
55§53
3. % i
Mary Kom
Db &
4, =

SectionId :

Section Number :
Section type :
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Question Number : 71 Question Id : 50131410764 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

PART D

501314183
4

Online
Mandatory
15

15

15

0

1
501314216
Yes

On which day 1s the International Day of UN Peacekeepers observed annually?

19 D05 180 EsTre: Habed T0ed 8§ e (UN Peacekeepers) €905 T 30

BT 19000 252 2HNK0ErSD



Options :

August gt
esfie) 8

October 30t
S5 30

May 29
a0 29

3.v¥

December 291
G020 29

Question Number : 72 Question Id : 50131410765 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Where has the Indian Army successfully test-fired the indigenously developed
'Man-Portable Anti-Tank Guided Missile' (MPATGM) weapon system?

2r8eh V30 B0 @050 TR '8rd &G 206 RS w)S ' ©aind
2900 2838 Hod =D oo HBE 0N0A.

Options :
Pokhran Field Firing Range, Rajasthan

- P TR 0D DO0M Bok TraETw®

Chandipur, Odisha
200 &7

2. %
Srihan Kota, Andhra Pradesh
3 % B0 B, 80|03 T

Jaisalmer, Rajasthan
2080 T ETS
4. %



Question Number : 73 Question Id : 50131410766 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who has been honoured with the John L. 'Tack' Swigert Jr. Award in 2024?
2024 5056315065 'S 228 225 2T 2005 ' 0D 68 ©DoDoB.

Options :
Elon Musk
N[SESENVINYE
1. %
Jeff Bezos
2D DR
2. %
India's Chandrayaan-3 Mission Team
28 eb LH0|AAN® -3 Madw 3o
3.v
NASA Mars Rover Team
4 % T (NASA) S8 850 3

Question Number : 74 Question Id : 50131410767 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to a report released by the United Nations Conference on Trade and
Development (UNCTAD) on April 16, 2024, India's economy 15 estimated to grow
at what rate i the year 2024?

DI BB TR TR0 ) 83 |B& @0H BHOD 0L UNCTAD) S0 TR
QBB 15580 2024 505815065 278 €30% 3510 590 Bew D0es?

Options :
5.5%

1. %

6.0%

3 ¢ 6.5%

7.0%



Question Number : 75 Question Id : 50131410768 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
According to the 'India Employment Report 2024' released on March 26, 2024, By the Human

Development Instifute and the International Labour orgamization, what percentage of the total
unemployed people lookmg for work in India are youth?

S0 E B0 306 BAPETES, W0STEAD ([TE N0 (ILO) © Db 2024
S5 2609 DeBL TS 2786 &ard ASOE 2024 (1580 278 BioS A& e
& O §0 )

Options :

a
1% 70%

15%

80%

L]
4 83%

Question Number : 76 Question Id : 50131410769 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which state 15 setting up the World Economic Forum’s Centre for Fourth Industrial Revolution
(C4IR)?

2 U720 D3O &S FE 90 | poHS BIOFEAS (CAR) VO &

T 0TS S0,

Options:

Maharashtra
1 % NI T(R

Kamataka
5 % Sor) 8

Telangana

B EIOTTED
3 ¢ 0TV



Gujarat
fhade

Question Number : 77 Question Id : 50131410770 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian filmmaker won the Grand Prix at Cannes_ in 2024 for her directorial debut drama.
“All We Imagme as Light™?
“09O @) BNEA B BE” 9T VAITE B85 50 HaroDS0NE s 1D5) 2O

oop 5o
9 0]

Options :
Zoya Akhtar

Solr e85
1. %

Anurag Kashyap
@00 835

Payal Kapadia
L o TOOS ErAr

Mira Nair
Do b

Question Number : 78 Question Id : 50131410771 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian state has announced to become the first Har Ghar Jal' certified state?
O BIoS w76 N5 236" Har Ghar Jal' %560 PO Sl TR0 2O 2

Options :
Punjab
00278

1. %

Haryana
A eNvy



Goa

Ao
3.

Sikkim
4 % 80

Question Number : 79 Question Id : 50131410772 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who 1s the current Chief Justice of India as of 20247
(D0 (2024 75°¢38) 2370 ed DT 50D 220 a7
Options :

N.V. Ramana
. D8I B

DY Chandrachud
&.83. Do rS

2.V
UU. Lalit
Cin.oh. ode
3. %
S.A Bobde
S AT
4, ®

Question Number : 80 Question Id : 50131410773 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who won the ICC Men's Cricketer of the Year award for 20232
2023 505681508 ICC i) (83620 &3 & 20D 97D D% Tenydomry K.

Options:

Virat Kohli
| % oS ETO

Joe Root
e valch



Babar Azam
3 ¢ 2D e2ro

Kane Williamson

5o O0HD DS

Question Number : 81 Question Id : 50131410774 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the name of India's first Al-based language translation platform launched in 20247
2024 & |TE0D0DN 2GS TSy e AL &350 27T @IS FOL 6.

Options:
Bharat AT Translate

. OS2I (8T BE
1.

Anuvad AT
Ry o o O Bk

Bhashim

AN 54
3. v

LinguaAl
OOTL o).5.

Question Number : 82 Question Id : 50131410775 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian state 1s set to ho_st the National Games in 20247
28 B30 2024 & 230D (BSOD BT 03cS) TR0 DA.

Options :
Gujarat
1 % hETS

Odisha

5 % 2.Ce7e



Haryana

0 el iy
3. %

Goa

=5

Question Number : 83 Question Id : 50131410776 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

At which place will the Indian O1l Corporation (I0C) build India’s first ‘green hydrogen” plant?
R0509S oS 5851000, 278 B3 B B IERD T0 &
D DBH0S” AB05:008.

Options:

Vadodara Refinery

x SESE 0RO

Pamipat Refinery
a0 BN

Mathura Refinery

30208 B0
3. ¢

Paradip Refinery
OO Bd

Question Number : 84 Question Id : 50131410777 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 15 the name of the lugh-level comnuttee report on conducting simultaneous
elections n India?

78 B0 285006 IO BT 0STAR &y Tow ENed AIHE
=
Aley

Options :

One India. One Vote
DD VOLHAD S .63

1. %



Simultaneous Poll Report
o % VN TACHI S BIFY

One Nation, One Election
S O S0 DO S
3.¢

Unified Election System
ASNADE JOE S DR

Question Number : 85 Question Id : 50131410778 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who was the Governor of the Reserve Bank of India (RBI) 1n 20147
2014 &5 6255 27008 B85
Options:

Raghuram Rajan
1 % OJNT T°B

Urjit Patel
&0&E SS

Shaktilzanta Das

38 soed R

3.v¥

Subbarao

D.
&. Q2r)Tr)

4. «
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Question Number : 86 Question Id : 50131410779 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which definifion of economics emphasizes human well-bemg and social welfare?

) 0% TR NG SN0, APDD DOT D0, RS DO PR (DO

(DT DR,

Options:
Wealth Definition
Q08 G sS0
1. %
Welfare Definition
QOT e O TID0
2. ¢
Scarcity Definition
&Sed DG 5L980
3. %
Growth Definition
S9B® AB IS0
4. %

Question Number : 87 Question Id : 50131410780 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Law of Dimimishing Marginal Utility states that:
, 5 W W W i W A
155 8. S0 (DEZred Q|50 ol D08,

Options :
Total utility decreases as consumption increases

- DATTHC DORS O Tno |00 SN0

Additional satisfaction decreases as more umits of a good are consumed
DB02.5 OHTAE O DATFAODSDPCH N8 (HETT2S0 §B3006.
2.



Consumers will only purchase cheaper goods
Qa3 Trdnen 35030 507 OO SAWHOD ST Fotrdd
3. %

Total utility remains constant regardless of consumption
DABFTTHOR 00050 BHIOT Fre0 (HOH2N0 VSO &GOLN0H

Question Number : 88 Question Id : 50131410781 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the substitution effect?
(DB£e0E (D2FHD0 0T DS

Options :

When a higher price causes consumers to purchase more of a substitute good

xS S0 3D DATFHT BN (65530500 SN B0 I Foerdd

When consumers' income decreases, leading to increased demand for inferior goods

. DRI @raN0 SN, TPFO50 GO BT Fotrd
2.

When the price of a good r1ses, consumers buy less of 1t and more of Another good

J 2,8 500D 50T Fr) WEBS D DHOD DB ST FoLrT D
3.

When a lower price causes an increase in the quantity demanded of a good

4% 2,8 290069 @eD DEVLIT TR @A 90l s)@edd 50T Foerd

Question Number : 89 Question Id : 50131410782 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the followmng 1s a short-run production function characteristic?
& 808 73S DA HO1TOE &b Hero ©F 00

Options :

All factors of production are variable
e gred el SRHTeN 198 dreded TOTewn



Some factors of production are fixed
§'r)) €red 18 528570 VOO GOLraw

All factors of production are fixed
e93)) €red 1@ SETeN WSO GOLeFown

Production 1s not possible
. Sebied arddeo 52¢%

Question Number : 90 Question Id : 50131410783 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which factor of production 1s rewarded with interest?
2 56518 5295708 @0 |DADO0 H

Options :
Land
AV
1. %
Labor
2. % L
Capital
Wil e
3 v STPEIN0
Entrepreneurship
NI ERTRAE R
4, ® )

Question Number : 91 Question Id : 50131410784 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

GDP at market prices mncludes: 5
=1 - W .- s |_"¢-
%808 eSO DL A8Y e 2raXBre )R S Eodacenod.
Options :
The value of all goods and services nunus mdirect taxes

- HTE D) VTN, Q) SWRIE> Dessen



The value of all goods and services plus indirect taxes and subsidies

B v oy 5 4 = D - 3

HEE DY+ DDA EOD @) SWISE Densen
2. %

The value of all goods and services at factor cost
IR SW DO TH5e A&

The value of all goods and services plus indirect taxes minus subsidies

v HTE D010 O, HDIBOD SIS Q) S SO DenIen

Question Number : 92 Question Id : 50131410785 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the primary role of a central bank?
20| 27808 15578 ©8 20 dane3?

Options :

To control the money supply and oversee the banking system
1695858 D201 VOHOEB0IE0, 23080 SrdRed DSB8 00
1.4

To set prices for goods and services
S aIe) BB AQONOIBO

2. %
To determine the fiscal policy
. 8% Dirra)) Q000
3.
To manage mternational trade
w ©OST A 8235 DB LF0IGH0

Question Number : 93 Question Id : 50131410786 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which measure indicates the average level of prices in an economy?
0% HrdDen arrden Ot S8 Trown rDoD Fodrdo

Options :



Gross Domestic Product (GDP)

R Sl 2O €3

Consumer Price Index (CPI)
2. ¢ DdIrhiore OO )

Unemployment rate
DA E e Bex

3. % B
Balance of trade

4 % D20 dedids 3o

Question Number : 94 Question Id : 50131410787 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an objective of economic development?

%1808 T3S DO e05°DH5)D ©F 50
Options:

Increase m population growth
2T 9@ DA

1. %
Increase m unemployment rate
. QBE RS Tew DOKSO
2.
Reduction in poverty
D850 SHSe
3.v
Increase in trade deficits
Tredes s en DOKG0
4. ®

Question Number : 95 Question Id : 50131410788 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which mdicator 1s commonly used to measure economic development?

&30XHHON FOT OO DAATFNOT A OO

Options :



Gross Domestic Product (GDP)
e 2 e Oired )8

1. %
Human Development Index (HDI)
SPRTEI0) D A8
2. v
Consumer Price Index (CPI)
DTN Trthe Sde D
3. %
Trade Balance
4% TERBEO0SHOH0

Question Number : 96 Question Id : 50131410789 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which characteristic 1s typically associated with developed economies?
& 806 5635 @IHO ToOD 6308 H:5D ©F 00 IS
Options:

High levels of poverty and unemployment

20HE 0w DABE0, A& sHo

High standard of living and advanced technological infrastructure
0O 285 D220, @85S ) TOANS TroTedd JFOF SJdehven
2.

Low literacy rates and madequate healthcare
650).5 @8 Trdzed, SRS0ed firde DEPFI0

3. %
Dependence on agriculture as the main economuc activity
1953%5 €9Q¥ 525250700 832905 e33O eh

4. %

Question Number : 97 Question Id : 50131410790 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following 15 a significant demographic feature of the Indian Population.
2rded 230927 (demographic) S0 @8 £20

Options:

High average age
eHE DD SAD

Low birth rate

. 550785 220505 B
2.

High population density

e HE 2300 0| Ceh
3.¢

Negative population growth
4 % Q05828 20merd) @

Question Number : 98 Question Id : 50131410791 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Amartya Sen, which factor 1s crucial for human development?
2:00: DS (D580 IrIT Y08 8 850 JA.

Options :
Economuc growth alone

e30% 330 H|hD

1. %

Freedom and capabilities of individuals

L), TeNTT gew
2.9

Industrialization
3 & 0 (@EESe

Population control
20072 AODO| e85
4. %

Question Number : 99 Question Id : 50131410792 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

Which sector 1s a significant contributor to the economy of Telangana?
B0 @08 525050 S I3 SIS JoK0 DE?

Options :
Agriculture
o B e OO
1. %

Mining and IT services
5 @ DA, 203 VDI

Manufacturing
S0
3. %
Tourism
DT se80
4. % i

Question Number : 100 Question Id : 50131410793 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a key aspect of India's economic reforms initiated in 1991?
1991 5 PG00 0DS s e3E HoH e Sy 500 IO,
Options:

Nationalization of major mdustries
[T 8|3 2redonide

1. %
Liberalization, Privatization, and Globalization (LPG)
DEDES, | I3ESD, DDoDESD (LPG)

2. ¢

Increase in trade tanffs
3 % EARS DOSTO VOGO

Reduction in foreign mvestment

DBP PO dhoddso

4. %





